Filiere Mini-phénix
Mini-phénix threading machine

Rep | Quantité
Rep Quantity

Référence (x1) | Kit
Reference (x1) 143

Désignation / Designation

Couvercle / carbon cover 892301

Coque droite / Right housing 892302

Rondelle A5,3 / washer a 5,3 892303

Rondelle élastique 5 / Spring washer 5 892304

Vis M5x20 mm / Screw m5 x 20 mm 892305

Vis auto taraudeuse / Tapping screw 3,5 x 6.5 892306

Charbon 230V / carbon brush 230v 892307

* Non disponible a la vente : le remplacement de ce produit nécessite un retour dans notre SAV.
*Not available for sale: the replacement of this product requires a return to our After Sales Service.

Pour nous contacter / To contact us : www.virax.com / contact



http://www.virax.com/

Filiere Mini-phénix

VI mx Mini-phénix threading machine

Rep Quantité Désignation / pesignation Référence (x1) K|t
Quantity Reference (x1)

Porte charbon / carbon brush holder 892309

Stator 230V / Stator 230V 892310

Cable avec prise Schuko / cable with plug schuko 892312

Protection de cable / cable guard nozzie 892313

Coque gauche / Left housing 892314

Interrupteur / Switch 892315

Condensateur / Capacitor 892316

Roulement palier / Bearing slip 892317

Roulement 607 2SR / Bearing 607 2sr 892318

Rotor 230V + Kit pignons 1 / Rotor 230v + shaf 1 892319

Roulement 609 2RS / Bearing 609 2sr 892321

Boite de vitesse / Gear box 892322

Roulement / Bearing 892323

Engrenage hélicoidal / Helicoidal driven gear IV 892324

Circlip / circlip 892325

Manchon / Steeve 892326

Carter d’engrenages / Gear housing cover 892327

Rondelle élastique / Spring washer 5 892328

Capuchon a téte cylindrique M5 x 25 / Socket head cap screw 892329
mbx25

Vis auto taraudeuse M 4,2 x 20 / Tapping screw 4.2x20 892330

Kit pignons 2 / Shaft ii cpl 892331

Kit pignons 3 / Shaft iii cpl 892332

~N I N I YN I YN NI " " """ """ """ N NN YN NN N~

Kit pignon 4 / Shaft iv cpl 892333

* Non disponible a la vente : le remplacement de ce produit nécessite un retour dans notre SAV.
*Not available for sale: the replacement of this product requires a return to our After Sales Service.

Pour nous contacter / To contact us : www.virax.com / contact



http://www.virax.com/

